DNA Replication and Transcription Notes
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Chargaff’s Rule: In DNA, 
· the amount of ______ = the amount of ______
· the amount of ______ = the amount of ______

DNA is ______________________

· Complementary: bases on one strand match up with the bases on the other strand 


(A-T and G-C)

· Example: Strand 1 –   ATG     GGC     CTA
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          Strand 2 - _____    _____    ______

Replication
· process by which DNA _______________ itself

· happens when _________________ copy themselves before mitosis and meiosis (cell division)

· __________________________ replication: each new piece of DNA is made up of 1 _______ strand and 1 _________ strand

1. DNA is ___________ with the help of the enzyme ____________

2. _______________ bonds between base pairs are broken

3. Free bases ___________ up with exposed bases

4. DNA ___________ and recoils up
Some mistakes are made and ______________ are formed.  A mutation is a change in the base pairs of DNA.

DNA’s job is to _______________________________
Where is protein made?

____________________________
Where is DNA located?






Can DNA leave the nucleus?

________
DNA in the ___________ is SAFE!!!  DNA in the _____________ can be DESTROYED!!!

How does the DNA become protein?

RNA is a ___________ of DNA that goes out into the ____________________ to tell the cell what to do in order to stay alive (mRNA = messenger RNA)

· RNA: ________________________   _______________

· You can always make more RNA so it’s okay if it gets destroyed (You can’t make more DNA)
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3.1.1 - Practice EOC Questions
1. Who developed the double helix model of the DNA molecule?

A.  Darwin      B. Watson and Crick    C. Franklin and McDevitt    D. Hardy and Weinberg

2. Which nucleotide would most likely be involved in the replication of DNA?

A. ribose-phosphate-uracil                             B.  ribose-phosphate-thymine   

C. deoxyribose-phosphate-uracil                    D. deoxyribose-phosphate-thymine

3. A segment of DNA has this base sequence: ACG TAG TCA.  What is the complimentary DNA strand?   
A. TGC ATC AGT       B. UGC AUC GAC         C.  UGC TAG TCA 
4. A segment of DNA has this base sequence: ACG TAG TCA.  What is the complimentary mRNA strand?  
A.  UGC ATC AGU          B. UGC AUC AGU            C. CAT GCT GAC 

5. Before a cell goes through either mitosis or meiosis, which process must be carried out by the DNA in the nucleus?         A.  replication     B. nondisjunction     C. transcription     D. translation

6. What is the significance of hydrogen bonds in the DNA double helix?

A.  they are weak enough to separate during DNA replication 
       B. they are weak enough to mutate into RNA
C. they are strong enough to never mutate during DNA replication     D. they are strong enough to prevent unzipping

7.Which nucleotide would most likely be found in RNA?

A.  ribose- phosphate- uracil



B.  ribose-phosphate- thymine

C.  deoxyribose-phosphate-uracil


D.  deoxyribose-phosphate-thymine
















